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Topic:- General Knowledge

1) Who among the following cricketers, played for Madhya Pradesh in the Ranji Trophy cricket, created a record
of taking 16 wickets in his debut test match for India? /

TUTSlt 21! fobdhe O Teaue™ 3t 3R | o+ ard Fafefad fhdex) O @ fram yRa o1 3R I orvA uge &t
T AT H 16 faPe a1 &1 i s=mar U1

1. Syed Mushtaq Ali / g AT 3t
2. Chandu Borde / 5@ CIE]

3. Narendra Hirwani / :QTQ' %Qa'f'_‘ﬁ

4. Vijay Hazare / IEEREEIN

Correct Answer :-

« Narendra Hirwani / TG %wﬁ’r

2) Who among the following is the Home Minister of Madhya Pradesh government? /
fFrefafaa o @ S aowesr IR & TEHE 82

1. Antar Singh Arya / 3R Rig 3

2. Narayan Singh Kushwaha / TRTIU ﬁrs' PRAUdle

3. Bhupendra Singh / 'Jia'_&r Rig

4. Rampal Singh / THUTA ﬁr&'

Correct Answer :-

« Bhupendra Singh / 'Jia'_sf Rig

3) Who is the present Lokayukta of Madhya Pradesh? /
AU & AU ABTgad B 82

1. Justice Reva Khetrapal / :qmqﬁ-fim ECEDII]

2. Justice M.L. Tahaliyani / W’ﬂﬁ‘f@w a‘gl%m:ﬁ

3. Justice Naval Kishore Agarwal / ?Irqaﬁqaa fPRIR srara

4. Justice N.K. Gupta/ =ITIHfc T.3. Tl

Correct Answer :-

« Justice N.K. Gupta/ WG% RIS

4) ‘Who has been awarded the ‘Bharatiya Jnanpith’ for the year 20172 /
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T4 2017 & "YRAI FUS A f6a gwnfa fosar mare
1. Krishna Sobti / T T&dT

2. Raghuveer Chaudhary / T‘gfﬁ? e

3. Chandrasekhar Kambar / GGRRGR HEAR

4. Ravuri Bharadwaja / JTRI YRGS

Correct Answer :-

« Krishna Sobti / 0T Hiscit

5) Who has been appointed as the Chief Election Commissioner of India on January 2018? /
T 2018 B URA & GBI AT YT & &9 | fohae! e fosar mar un?

1. Achal Kumar Joti / 3 HR Sct

2. Nasim Zaidi / TEH icl

3. Om Prakash Rawat / 310 U TR [dd

4. Ashok Lavasa / 311d Srar

Correct Answer :-

« Om Prakash Rawat / 3NH UehT Jdd

6) In which of the following years did Bhopal Gas Tragedy happen? /
Frafafea 7 & few ad # «iura i Tmad g3 92

1. 1984

2.1978

3. 1988

4. 1974

Correct Answer :-

« 1984

7) Where is the principal seat of Madhya Pradesh High Court located at? /
A YT S AT o1 Yo7 Hie wei fRa 82

1. Jabalpur / SISCTYY

2. Gwalior / IR

3. Indore / 33 N
4. Bhopal / T

Correct Answer :-

« Jabalpur / SIFTYR

8) The objective of ‘National Knowledge Network’ is to provide i
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ANF AT Aead RIS [ Acad) HT I U HIAT R
1. internet facility in schools / W“ﬁ T gexAe ﬁﬁ%ﬂ
2. virtual classrooms / 3THTE HEMY (a'é&ra FARR=H)

3. infrastructure / W ‘{[ﬁ?ﬂﬁ (SREFRR)
4, libraries in villages / Tial o JEdhTeld

Correct Answer :-

« virtual classrooms / THTE! HETY (aﬁ&m FHAEH)

9) The Khajuraho Temples in northern Madhya Pradesh were built by which of the following kings? /
I weH U R H fRya WeRTe! HieR ot Faferfaa ® 3 5w o & gy a=man wan ar
1. Maurya / o

2. Kalachuri / W

3. Chandela / I&d

4. Gupta / [t

Correct Answer :-

« Chandela / dcd

10) Pandurang Salgaonkar was in the news in 2017 for: /

au 2017 § GG AP 59 SR A A | 2

1. Appointment as selector of Indian cricket team / YR fbebe d1 & Ig-adl (@ﬁaa) & =0 T 3P ﬁ{:[f%
2. Winning medal for India in a sporting event / QEF@F[ TS (@ﬁ'ﬂ%ﬁ?} T YRd & for uge Sita

3. Alleged pitch fixing in an ODI cricket match / Tdh ooy fopbe 9 H g IR R = e

4. Getting selected to Indian cricket team / YR fohdhe EH T 311 98- gl

Correct Answer :-

« Alleged pitch fixing in an ODI cricket match / U fGa=ilg fopdpre Ta o Bfd IR W e fpfadm

11) Which major title was won by ‘Grandmaster’ Vishwanathan Anand in the year 2017 held in Riyadh, Saudi
Arabia? /

Fisarex’ fAYATYT 3rig A a9 2017 ¥ frare, Tedt SR F Smaifira wi=-t yg@ A=y it
1. World Chess Championship / f3% Tra fmfRig (ace =9 o)

2. World Rapid Chess Championship / fa% YU 2raist AftrmfRm (ae@ e 9w dftemfRm)

3. Asian Chess Championship / TRIATE Yot AT (@RrE 99 <=

4. Classical World Chess Championship / TG f3%Y YRS AMRHARIY (FeRied dcs 99 ua-iRm)

Correct Answer :-

« World Rapid Chess Championship / f3% Y08 Zraet =gl (@ s 39 fomafim)
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12) Which of the following has been recently recognised by UNESCO as ‘an intangible cultural heritage of
humanity’? /

fFrafafae o @ f5d e € 3 R & gRT UTHadl 31 T 3d Jipfad AR’ W1 17 82
1. Ganga Aarti / 7T 3Rl

2. Amarnath Yatra / SIHRATY ITAT

3. Sabarimala Pilgrimage / GEIATAT ifamn

4. Kumbh Mela / ?m-lﬂ?ﬂ
Correct Answer :-

« Kumbh Mela / ?m-lﬁ?ﬂ

13) Mines of export quality marbles are present in which of the following places of Madhya Pradesh? /

7 g & fAferfaa ® 9 fa @i w frafa s areft arda & @ disgg @2
1. Sleemanabad / SHATETG

2. Malajkhand / HATSRIS

3. Panna / Ul

4. Rajnagar / JISI-TR

Correct Answer :-

« Sleemanabad / THTHATEIG

14) Sandipani Ashram, where Lord Krishna and Sudama are believed to have done their schooling, is located in
which one the following places of Madhya Pradesh? /

T STYH, ST AT AT § 196 AT Fo0T 3R G A U=t wpeit g et &t i, aea v &
fFrafefea v § s fRE @2

1. Seoni / a1

2. Dhar / 4R

3. Ujjain / IS0

4. Chitrakoot / Fo®T

Correct Answer :-

. Ujjain / oM

15) Who is the Minister of Public Health and Family Welfare under the Government of Madhya Pradesh? /
HAYS AN & T6d AW WA 3R TRAR Feam H:4 o1 82

1. Archana Chitnis / 32T faef

2. Umashankar Gupta / SHTRIDR TG

3. Rustam Singh / >¥dH Rig

4. Paras Chandra Jain / URY 9% S

Correct Answer :-
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+ Rustam Singh / 2¥dH ﬁr&'

16) Who is the Vice Chancellor of Madhya Pradesh Bhoj (Open) University? /
u YR Wi (3Nue) fagfaenaa & gaufa #1432

1. Prof. S.S. Pandey /. T4, Ui

2. Prof. Sangeeta Shukla / 1. fta RICHI

3. Dr. Ravindra Kanhere / SI. TI%*_Q' W

4. Dr. Narendra Kumar Dhakad / 1. TR& PHR Ylh s

Correct Answer :-

« Dr. Ravindra Kanhere / ST, Jd=< ﬁ

17) The Mahamastakabhisheka of Bahubali at Shravanabelagola was held on after 12 years. /
12 U1 91¢ YUl (U STgadl BT AT IIS DI TS g3

1. January 2018 / SIFTa<1 2018

2. April 2018 / 30T 2018

3. February 2018 / ThRdR] 2018

4. March 2018 / 19 2018

Correct Answer :-

« February 2018 / RaI 2018

Topic:- General Hindi

1) ATI-BFX B T T Garar 1 34 g fieai A A s are?
1. gfauT & ge

2. gfaur o STe

3. gAY H A US

4. glaur g e

Correct Answer :-

- gfaurd gs

2) G & forg Wt Wt fasde =1 g
1. 3fa+aife

2. 3g+371Te

3. gic+anfa

4. S+

Correct Answer :-
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3) Irdwr & forg Wt Wity fa=dg ®1 g
1. SIRH+3Fd
2. SR+3d
3. URI+IH
4. JUR+ITT

Correct Answer :-

. JUR+IT

4) AT yaS FUSTY F o 0 W P A A B ATR?
1. 3USH

2. JATITAS

3. SIS

4. IFTH

Correct Answer :-

5) IR & e agt watgardt ara weg) @1 ufda &1 gfHg
1. QIRGT, HRT, 37
2. RIRGT, TR, 3T
3. _IRaT, Ry, emrean
4. QRar, R, 3men

Correct Answer :-

6) 3P BT gg TUFFAAPTR?
1. eafes
2. 3NfiTp

3. gD
4. Erfid

Correct Answer :-

7) 4 & fore w&t watgar ar 2sgl 3t ufdd & gf)
1. TR, Al 98TgY
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2. }R, &, S6TgY
3. R, i, T8GR
4. X0, AGT, 98TgR

Correct Answer :-

. TR, WG, TETGR

8) “qIeT A=A YeTar &1 3 fg fApeni A A w T g?
1. THTS WHR BT

2. YHTd WHR BT

3. YHTd SRAIBR HAT

4. YT WIDHR 7 AT

Correct Answer :-

« JHTG WHR HIAT

9) Rrait Rra, e 3maY, gur &1 vTE urat I - A g § | I 91 ISP R 22
1. 9T 3ABR

2. XA SADBR

3. GopIfad SAPR

4. JUHT 3ABR

Correct Answer :-
. IR SABR
10) S FEIAMED S A @ IG AT PHA?
1. 3THI
2. 3{DHYAT
3. ABYUT
4, JYHY

Correct Answer :-

. AHYHT

11) g sf e s adt o R AR s dar - A Fu A S e A sEeR 82
1. G-Il 3R

2. IIST 3fibR

3. Iobifar] SfABR

4. SUHT 3ADR

Correct Answer :-
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12) <3 ITH § §9T Vg FA A G P AT R?
1. 3{RE&MT
2. 3RTSIH

3. SIRISIhdl
4. 3o

Correct Answer :-

. 3IRE

13) ‘P3P BT 7 T | HI9 1 G} faeiy vrsg 22
1. el

2. gaal

3. @RI

4. §5-g8

Correct Answer :-

14) IEET BT GG GRS faus Fad A s arg?
1. B E T

2.8 & forg wd

3.AE W TH

4.8 ST d

Correct Answer :-

. A F e e

15) Fy STET A T v P A A S AT 32
1. 5 IR¥

2. RAT

3. (Y

4. 9Rd

Correct Answer :-

16) spg BT 719 A | B9 I1 L) faeiH g 22
1. fawa
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2. U
3. T
4. A

Correct Answer :-

17) 381 38l g3 aTa® 3@ | ufayw Wik e fadwar|

S I o et Y ERT e AR gEeT | - A P A A e AT R
1. 4R

2. YOI T

3. 3% X9

4. YA Y

Correct Answer :-

Topic:- General English

1) Choose the correct form of modal auxiliary verb for the given sentence:
We  go for a holiday to the US, if we had a lot of money.

1. will

2. could

3. shall

4, would

Correct Answer :-

« could

2) Choose the most suitable conjunction for the given sentence:

Austria is famous for the beauty of its landscape __ the hospitality of its people.
1. since

2. 80

3.and

4. because

Correct Answer :-

e and

3) Choose the most suitable prefix for the given sentence:
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The Taj Mahal is a symbol of __mortal love of two people.
1. im-
2. dis-
3. un-

4. re-

Correct Answer :-

4) Choose the most suitable determiner for the given sentence:

While the teacher was explaining the concepts, students were talking among themselves at the back of the
class.

1. none
2. some
3. any

4. little

Correct Answer :-

5) Spot the error in the given sentence:
All children is playing on the beach happily.

1. All children

2. Happily

3. On the beach

4. Is playing

Correct Answer :-

« Isplaying

6) Choose the appropriate articles to complete the given sentence.
The social gap between ___rich and ___ poor is increasing.
1.a,an

2. the, the

3. the, a

4. a, the

Correct Answer :-

o the, the

7) Choose the appropriate articles to complete the given sentence.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

When we have a party, we believe in the philosophy of _ more ___ merrier.
1. the, the

2. the, a

3. a, the

4.a,a

Correct Answer :-

o the, the

8) Choose the appropriate preposition to complete the given sentence.
We say our prayers ____ the morning.

1. at

2.in

3. of

4. on

Correct Answer :-

9) Choose the appropriate form of the tense for the given sentence.

They _ for Delhi yesterday.
1. has left

2. are leaving

3. leave

4, left

Correct Answer :-

o left

10) Choose the option with the appropriate punctuation inserted in the given sentence.

my prayers are heard he cried

1. "My prayers are heard," he cried.
2. "My prayers are heard" he cried?
3. "My prayers are heard;" he cried!
4. My prayers are heard! he cried.

Correct Answer :-

» "My prayers are heard," he cried.

11) Choose the correct form of verbs that is in agreement with the subject:

GET IT ON

Google Play
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____the child on the bed. Let me _____ on the couch.
1. Lie, lie

2. Lie, lay

3. Lay, lay

4. Lay, lie

Correct Answer :-

o Lay, lie

12) Give the noun form of the underlined word in the given sentence:
Please do not pass judge without knowing the facts.

1. judging

2. judged

3. judgment

4. judgmental

Correct Answer :-

e judgment

13) Fill in the blank with the progressive tense (continuous tense) of the verb from the given options:
Real estate prices steadily.

1. rising

2. will be rising

3. arerising

4. is rising

Correct Answer :-

e arerising

14) Choose the appropriate preposition for the given sentence.

The rivalry the two groups increased after the elections.
1. between

2. amongst

3.in

4. at

Correct Answer :-

¢ between

15) Choose the appropriate form of the verb to complete the given sentence.

go for a walk.
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1. Lets’s

2. Lets

3. Lets’

4. Let’s

Correct Answer :-
o Let’s

16) Choose the option with the appropriate punctuation inserted in the given sentence.

The programme was so boring that the people just got up and left

1. The programme was so boring that the people just got up and left.
2. The programme was: so boring that the people Just got up and left!
3. the programmed was so Boring that the People just got up and left?
4. the programme was so boring that the people just got up and left?

Correct Answer :-

« The programme was so boring that the people just got up and left.

17) Choose the option that best transforms the given sentence using a question tag:
She paints beautifully,

1. does she?

2. doesn’t she?

3.isn’t she?

4. hasn’t she?

Correct Answer :-
« doesn’t she?

Topic:- General Maths

1) I have Rs. 7250 with me. I want to distribute money in such a way that the amount I distribute is equal to the
number of people I donate money. How much money (least amount) should I keep in my pocket to satisfy the
above condition? /

WU 7250 FUT S | F U7 1 3 UHR R Fie1 FredT § 1 AR gR1 a7t 78 i 37 &l &1 e & R
gﬁﬁ%ﬁwaﬁmﬁl SR TdTS T8 Xd B TRTHIA 8d G 301 99 A foraq $u¢ (_gaw i 7@

1.Rs. 25/25%UT
2. Rs. 20/20%UU
3.Rs. 30/30%4U

4. Rs. 15/15%4U¢

Correct Answer :-
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GET IT ON

Google Play

« Rs.25/25%4Q

2) If X has 39 elements, Y has 22 elements and 11 elements are same for both X and Y, then how many elements

does X or Y have? /

RXA9TIE, YH 2 dd e R X R YSH A 11 TdGHEE A X AT Y A fpad aa &2
1.27

2.61

3.17

4. 50

Correct Answer :-

3) Fill in the blanks: 1,2.5, ,7,10 /
e uRe: 1,25, ,7,10
1.4.5

2.5.5

3.6

4.4

Correct Answer :-

e 45

4) Express in hours: 230 minutes 240 seconds. /

230 fiFe 240 S &) Ul A HTd B

3ihrs [ 32 HE
1. 10 10

38 s 132 g
2. 40 40

3% hrs 1 32 g2
3' 40 a0

I—hrs | 3— He&
4. 10 10

Correct Answer :-

5) What is the approximate measurement of the angle between the hands of a clock at 1’0 clock? /
1 99 U TS B YA & S b B0 Y SIgHING J19 471 32
1. 25 degrees / 25 S

2. 40 degrees / 40 S
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3. 35 degrees / 35 S

4. 30 degrees / 30 S

Correct Answer :-

o 30 degrees / 30 S

6) 10 students are standing in the playground, out of them 6 are from class XI and 4 of them are from class IX. If
the school authority has decided to select any one of them randomly to represent school games, then what are the
chances that one student of class XI gets selected? /

10 BT QA P AGH A TS &, I7H T 6 P& X1 A & 3R 370 T 4 P& 1X A ¢ 1 afe fremea w3
faemery & Wdl @1 uRgd B3 & fore f6d v & arefos 0 A g4 &1 fHofy foran 8, o 71 Jueeme
% F& X1 T TS B AT TR

L | =

wn | k2 Uy |

La | L

4.

Correct Answer :-

L | 2

7) H.C.F of 625 and 0 is equal to:/

625 31X 0 ST HGTH TATYIAP (19 & TG Il &
1. 625

2.5

3.25

4.0

Correct Answer :-

e 625

8) Which of the following is a pair of co-primes? /

fFrafafad & 3 S 91 SR YT (H)-UT5H) &1 TS T 82
1. (37, 185)

2. (42, 84)

3.(23, 151)

4. (28,49)

Correct Answer :-
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. (23, 151)

) CANCELLED

2.45="7

27

110

37
5 120

245
3. 99

17
4, 115

Correct Answer :-

27

10) Akash wants to donate 87375 blankets to 698 complexes in a nearby locality. If he wants to keep some blankets
with himself, then how many such blankets should he keep so that all the complexes get equal number of blankets?
/

SATHTRT URT & FATP B 698 UTA-THE! B 87375 Had g1 BT dlgdl ¢ | IfE I8 T Had U U 7@-1T
TTedT 8, a1 ¥ fra daa I/ 7@A T1feT & it ol &) sR1eR e § Haa e

1. 124
2.125
3.123
4. 120

Correct Answer :-

e 125

11) In a right angled triangle, if the shortest side is 24 cm and the three sides form a Pythagorean triple, then what
is the length of the largest side? /

T G0 Y #, i T Bidt Yo 24 At § 3R i Yomd urguriias fRue a7t § @t wad 9t
YOI Y TS T 8?2

1.120 cm / 120 4t
2. 123 cm/ 123 9
3.143 cm/ 143 9
4,145 cm / 145 T

Correct Answer :-

« 145 cm/ 145 99
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4.

Correct Answer :-

13) Zeroes of the polynomial x2- 2x- 193 are: /
Eg'qa' x1-2x%- 195 AT %’

1.-17,15

2.-13,15

3.-15,17

4.-15,13

Correct Answer :-

o -13,15

14) Ifq, P, v are the zeroes of the polynomial p(v) = v —2y? —v+2, then: /

a1 o B, 7. 9EUG p(y) = ¥' — 2y’ —y+2 & LI &,
afy=-2; a+f+y =2
5 oy =2 at+pty=-1
ofy=-1; atp+y=-2

5 BY=2atBiy=-2

Correct Answer :-

afy =-2; at+f+y =2

15) x=-21, y=16 and z=5, then x*+v*+z% is: /
=21 v=163R z=5 & ar i+t =

1. -5040

GET IT ON

Google Play
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2.-5030

3.-5050

4. -5060

Correct Answer :-

« -5040

16) 2 ot obipl kB B
5 4 10
25 BT 24 12 FT - 30 & —=2

5 4 10

1. 19

2.21

3.16

4. 10

Correct Answer :-

« 10

17) When 4RST is divided by PQ, the quotient is 1UV and the remainder is 0. Find T? /
S 4RST &r PQ ¥ Tasnfora fonam STaT g, Al #eThel 1UV 3R 99%e 0 3@r g1 T
AT hifaw?

1.7
2.5
3.8

4.6

Correct Answer :-

Topic:- General Aptitude

1) In what ratio must a grocer mix two varieties of tea worth Rs. 60 a kg and Rs. 65 a kg, so that by selling the
mixture at Rs. 71.3 a kg he may gain 15%? /


https://applink.adda247.com/d/XhqWf9lSap
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TP 9T o1 5T SruTd | 60 FUT yfafdbar iR 65 FuC yfafee aret gt fow o1 ara &) fafda s
IR, A1 Fryor 1 71.3 T ufafpeat SaHR a8 15% ATH U B A2

1.2:3
2.1:2
3.2:1
4.3:2

Correct Answer :-

e 32

2) The average age of 10 persons in a committee is increased by 2 years when two men aged 37 years and 47 years
are substituted by two women. Find the average age of these two women? /

S IiAfa A 10 AN BT 39T 3T 2 a9 T T TN 8, 9 37 a9 3R 47 a9 F G W F &Y Afgenait gRI
wfereuTiia &= fear wirar 81 39 3 afgarsit # shwa sy 31 H32

1. 54 years / 54 CL
2. 56 years / 56 CL
3. 52 years / 52 CL
4. 50 years / 50 CL

Correct Answer :-

o 52 years/52 CL

3) A grocer purchased 90 kg sugar at Rs. 14.50 per kg and mixed it with 110 kg sugar at Rs. 18 per kg. At what
rate should he sell the mixture to gain 16% profit? /

TP TR 14.50 TUY Ufdfpal &1 &3 F 90 fopur D+ @iicar g ik 39 18 IUT ufdfhal arra arelt 110 fum
Tt & ATy FAfia SR AT 21 16% ATH YT B $ forg 39 fyyor &1 3 frg o R d==1 T1fge?

1. 19.05 per kg / 19.05 ¥UT Ufcifdral!
2. 18.50 per kg / 18.50 ¥UT Ufdfdal
3. 19.50 per kg / 19.50 $UY Ufdfdmar
4. 18.05 per kg / 18.05 TUT Ufdfdal

Correct Answer :-

« 19.05 per kg / 19.05 ¥UU Ufdfdran

4) A dice is thrown. What is the probability that the number shown on the dice is not divisible by 2? /

T U1 pT ST © | 37 Ui dn @ o urd wR faas) areft @ 2 A faursy 18t 82

B | W

= w
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W=

[N

4.

Correct Answer :-

5) If ‘BRAVE’ is coded as ‘FWBSC?’, then how will you code ‘LOGOS’? /

gfd “BRAVE” ®I “FWBSC” B Bifsd foar a1 8, aY 3T “LOGOS” &t 71 fRr@ds difea w2
1. TPHPM

2. FBTDM

3. FBTMD

4. FBMTD

Correct Answer :-

- TPHPM

6) If the English alphabet is written in the reverse order and every alternate letter starting with Y is dropped
towards the right, then which letter will be exactly in the middle of the remaining letters of the alphabet? /

gfe 3t quinTar &) I H H forar 1T ok Y & AP 53 gu¥ 3I&R &1 313 3R Jed §U 1Y & faT I,
o P T &R FuiaTer & AW &Rl & St & g

1.0
2. M
3.N

4.L

Correct Answer :-
« N

7) In how many different ways can the letters of the word 'FIGHT' be arranged? /
'FIGHT' }1sg & 31&RI ®1 fvam firg a8id ¥ syafua fosar o awar 82

1. 110

2.120

3.105

4. 115

Correct Answer :-

- 120
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8) The ratio of the speed of a car, a train and a bus is 6:7:5 respectively. The average speed of the car, the bus and the
train is 96 km/hr. What is the average speed of the car and the train together? /

TP PR, TP ¢ 3R TP 99 B °ATd BT SJUTd HH: 6:7:5 8 | PR, 9 3R 7 B 3N A1 96 fHHi/eer 31
PR 3R 31 B 3 ITe TP 1Y T 82

1. 104 knv/hr / 104 fadi/eier
2. 108 km/hr / 108 fobHi/EeT
3. 110 km/hr / 110 fodi/eier
4. 106 kmv/hr / 106 fobefi/gieT

Correct Answer :-

« 104 km/hr / 104 foHI/EeT

9) Two stockists x and y are paid a total of Rs. 770 per week by their employer. If x is paid 120% of the sum paid to y,
then how much is y paid per week? /

3 4o ek x 3R y 3 et gRT ufe Twre o 770 FUT UTed H2d 8 1 afe y Y Yrar &1 718 AR &1
120% x Y YITaT farar Siran g,  ufa Jearg y &t faan Yiar foan sirar 82

1. Rs. 350/ 350 24U
2. Rs. 300 /300 %4U
3. Rs. 200/ 200 ®UUY
4. Rs. 250 /250 %YU

Correct Answer :-

« Rs.350/350 20U

10) CANCELLED

If 77% of 360 + 20% of 200 — x = 116, then x is__ ./
Tfe 200 - x BT20% + 360 PT77% = 1168, ddx=
1.200.02

2.203.02

3.201.2

4.202.2

Correct Answer :-

- 2012

11) CANCELLED

The average of marks obtained by 120 candidates in a certain examination is 35. If the average marks of the
passed candidates is 40 and that of the failed candidates is 16, then what is the number of candidates who passed
the examination? /

T Af3a aftan # 120 IFNaRT gRT UTW i) &1 3 Hd 35 21 afe Il Sefieart & ofud 3id 40 g 3R
AP SWIEAR] B JWT 16 §, A U # S0l 811 aral Irfear] 1 G=m | 82
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1. 80
2.90
3.85
4.95

Correct Answer :-

« 95

12) CANCELLED

In a certain code ‘BLACK” is written ‘LDBMC’. How is “‘WHITE’ written in that code? /

T (Af3d ®ie §, “BLACK” BT “LDBMC”> for@r a1 1 3 18 # “WHITE” &1 &1 ferat simemm?
1. UGHTB

2. BDKHM

3. NLYGS

4. GVKJY

Correct Answer :-

« GVKIY

13) The ratio between the present ages of Vaibhav and Sagar is 5:3 respectively. The ratio
between Vaibhav’s age 4 years ago and Sagar’s age 4 year hence is 1:1 respectively. What is the
respective ratio between Vaibhav’s age 4 years hence and Sagar’s age 4 years ago? /

QYT 3R UNR B T 3R & S U U 5:3 1 4 a9 gd g oY 3mg 3 3t A 4 af arg IR Ft
3T & ST BT SJUTd HURT: 1:1 81 3138t A 4 af a1 AUT F1 3Mg 3 4 a9 ud AR Y g & i =M

ST T 8?2
1.4:1
2.3:1
3.2:1

4.1:3

Correct Answer :-

14) Ten years ago, a mother was three times as old as her son. Now the mother is only twice as
old as her son. The sum of the present ages of the son and the motheris___./

U Y qd, T i g A SrvR 3¢ T i 71 oftrep 7€) o1 3w | 3 R A Faw A ) 21 R e AT
Y g 3g BT AT g

1.54
2.72
3. 60

4. 105
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Correct Answer :-

* 60

15) REME%4WI1A2D#KS3IPq@FB@BIII7*HG6QVY.

If all the special symbols in the above arrangement are removed, then which of the following
will be the 5" to the right of the 11" from the left end? /
REME%AWI1A2D#KS3Pq@FB@©B8JIi7*HGEQVY.

afy s cageur # ¥ @i RV S @ ger R oy, A et § @

Fled a¢ R ¥ 117 udieh & g 3RY 57 gum
1.P
2.D
3.F
4.B

Correct Answer :-

- B

Topic:- General Computer

1) An example of application software is: /
TWAHR AIFEdaR PT TP a6V o:

1. Data processing / ST AR

2. Processing Unit / uﬁﬁmqﬁ?

3. Control Unit / 37_@?[ qﬁl?:’

4. MS Word / THTH T8

Correct Answer :-

« MS Word / THTH 98

2) In MS Excel 2010, what operation does F2 performs? /
THEY THAd 2010 ¥, F2 T ST BT 82

1. Edit/ Tf&e

2. Paste / ORC

3. Cut/dhc

4. Copy / Bt

Correct Answer :-

. Edit/Tf&e

3) In MS Excel 2010, what are called workbooks? /

GET IT ON

Google Play
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THUY TR 2010 H, T gh g Hgaldl o2
1. Fonts / tﬁ?\q

2. Group of worksheets / m HI Yy

3. Templates / m’dﬂ

4. Document / 31“32@?

Correct Answer :-

« Group of worksheets / a&sﬂw P Yy

4) In MS Excel 2010, which of the following features can help you enter repeated or incremental text or numbers
quickly? /

THTY T 2010 A, e § 9 919 A BlR U] fudar & T 3yar G@isil & gige™ 3yar sad
PO Sie H § Ugg P IHd 82

1. Auto / 3ffer

2. AutoSum / 3{TCrH

3. AutoCorrect / 3HICIHIIC
4. AutoFill / 3{icifthel

Correct Answer :-

« AutoFill / 3ffeiftha

5) In MS Excel 2007, date can be in the format of: /
THUH TEd 2007 H, f&Ai® 5 urey | 81 "ot o
1. 01 —Jan-2018 only/aﬁﬁOI —Jan—2018

2.1/1/2018 only/m 1/1/2018

3. All of the above / SURTE JHI

4.01/01/2018 only / T 01/01/2018

Correct Answer :-

« All of the above / STRIGd g+t

6) In MS Excel 2007, which of the following functions used for arithmetic operations is/are correct? /

THTH TR 2007 H, BTy ufsharelf (@rdafes sifuver) & foe suaiv fre e fAufefed tara &
P I I8 82

1. AVERAGE only / ad 37¥d (TaRw)
2. All of the above / STRTad Gt

3. COUNT only / Sdd TTUMT (H13<)

4. SUM only / dd I (IH)

Correct Answer :-

« All of the above / SURTad Ht
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7) In MS Excel 2007, by right-clicking on the sheet tab we get which one of the following options? /

THTY T 2007 H, Xfie 39 R Age-fFae ova gd Fufafad fawe & @ &9 91 ve firaar g2
1. Insert / §-9¢

2. Save /¥4

3. Undo / 3°g

4. Print/ flie

Correct Answer :-

« Insert/ 37\‘4%

8) In MS Word 2010, the shortcut key used to copy a character is: /
THEY T8 2010 &, Th HYae Pl HIUl B & forg WicPpe o1 g:
1. Alt+S

2. Alt+C

3. Ctrl+C

4, Ctrl+S

Correct Answer :-

e Ctrl+C

9) In MS Word 2010, which of the following methods is used to make subscript? /
THTH 78 2010 B, Fafafed faftm o @ o1 a1 gefsee 91 & fog suan faar s g2
1. Shift+"

2. Ctrl+Shift+"

3. Ctrl+Shift+=

4. Ctrl+=

Correct Answer :-
o Ctrl+=

10) In MS Word 2010, what function is performed by ‘justify align’ in the Home tab? /
THTH TS 2010 #, T 9 & WIS Sars' gRT ford BaR &1 WaTe gial 82
1. It aligns text to both left and right side margins by adding spaces in between words as necessary /

g T3l & o9 T TIIH AR Rad RIM ShedR a1¢ 3R a8 EH1 dvt Ao $HRap CRe I WA HRal o |

2. It aligns a sentence to right side /

g U 10 D ardl 3R W PR 3|
3. It aligns a sentence to left side /

g TP I P I1T 3R IR HRaT 2
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4. It aligns a sentence to the centre /
g U a1 B! sid | WA PRl g |
Correct Answer :-

« It aligns text to both left and right side margins by adding spaces in between words as necessary /

g T3l & o9 T TIRIH AR Rad RIM SigdR a1¢ 3R S1¢ SH avth HIfSH $HRa SR oI WA dRal g

11) In MS Word 2007, the Home tab consists of which of the following buttons? /
THTN TS 2007 #, 519 &9 # fFaforfed & @ o9 91 9ea e 32

1. Hyphenation / W’Qﬂ

2. Clip Art/ faerg amé

3. Bold / SIS

4. View gridlines / alﬁw

Correct Answer :-

. Bold /SIS

12) In MS Word 2007, which of the following keyboard shortcuts is used to access the ribbons from the tab? /
THTH T8 2007 #, 29 ¥ Ra 7@ ugan & g fFafafea # f5u Fiais wiéese o1 SwarT g e?

1. Shift key / Shift &I

2. Alt key / Alt BT

3. Ctrl key / Ctrl 1

4. Enter key / Enter Gl

Correct Answer :-

. Altkey/Alt @I

13) In MS Word 2007, which of the following icons is used to save a file in different formats? /

mm%aézomﬁ,wmaﬁmﬁﬁzﬁﬁamﬁ%ﬁmmﬁﬁmmmwm
ST 82

1. Publish / UTeT=T
2. Save As /99 TSl
3. Save / ¥d

4. Print/ flie

Correct Answer :-

. SaveAs/@HQTr[

14) ROM is an example of : /

W SHST TP IGTETVT §:
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1. Permanent memory / YT AR
2.1/0 device / 3MT5/3M) f&arsy

3. Temporary memory / ST AARY
4. Software / JIFCATR

Correct Answer :-

« Permanent memory / R AR

15) Chip is a common nickname for a/an ./
fRues BT A ST B |

1. Transistor / @W

2. Integrated circuit / cNIcs wide (Qaﬂﬁ RuY)

3. Resistor / ¥R (Qﬁf?}[ﬂﬁ)

4. Semiconductor / YHIHSHX (G{?RIT@@

Correct Answer :-

o Integrated circuit / 3¢ IS gfbe (Qaﬂﬁ tlﬁ't[%r)

16) Which of the following tabs is used to change views in MS Excel 2010? /

THTY TR 2010 ¥ ot &1 uf¥afda & forg Faferfaa @ 3 i e 1 suah far wirar 22
1. Page Layout tab / U9 A3M3e o

2. Design tab / fSSITS |

3. Review tab / ﬁaﬁa

4. View tab / 3 C§

Correct Answer :-

. View tab/ & cq

17) CANCELLED

In MS Excel 2010, the shortcut key to remove the outline border of the selected cell is: /
HEH T 2010 H, TaFd V9 & MScars disy geM fog idwpe $1 3:

1. Alt+Shift+

2. Ctrl+Shift

3. Ctrl+Shift+$

4, Ctrl+Shift+&

Correct Answer :-

« Ctrl+Shift_
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